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1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.050.000.050.100.150.200.250.30

Fiber 161, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.5

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.100.050.000.050.100.15

Fiber 223, dchi2frac= 1.0



2 0 2

2

0

2

data

1.251.501.752.002.252.502.753.003.25

2 0 2

2

0

2

model

1.501.752.002.252.502.753.003.25

2 0 2

2

0

2

residuals

0.4 0.3 0.2 0.10.0 0.1

Fiber 873, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.050.000.050.100.150.200.250.30

Fiber 2055, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

0.150.100.050.000.050.100.150.20

Fiber 670, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

1 2 3 4 5

2 0 2

2

0

2

residuals

0.40.30.20.10.00.1

Fiber 4813, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

1.0 1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.060.040.020.000.020.040.06

Fiber 2532, dchi2frac= 1.0



2 0 2

2

0

2

data

1.2 1.4 1.6 1.8 2.0

2 0 2

2

0

2

model

1.11.21.31.41.51.61.71.81.9

2 0 2

2

0

2

residuals

0.30.20.10.00.10.2

Fiber 4901, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6 7 8 9

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

0.00.51.01.52.02.53.0

Fiber 4234, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.21.41.61.82.02.22.42.6

2 0 2

2

0

2

model

1.001.251.501.752.002.252.502.753.00

2 0 2

2

0

2

residuals

0.3 0.2 0.10.0 0.1

Fiber 402, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.30.20.10.00.10.2

Fiber 325, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.100.050.000.050.100.15

Fiber 2591, dchi2frac= 1.0



2 0 2

2

0

2

data

1.251.501.752.002.252.502.75

2 0 2

2

0

2

model

1.251.501.752.002.252.502.75

2 0 2

2

0

2

residuals

0.150.100.050.000.050.10

Fiber 2495, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5 6

2 0 2

2

0

2

model

1 2 3 4 5 6

2 0 2

2

0

2

residuals

0.10.00.10.20.30.40.50.60.7

Fiber 2250, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6 7

2 0 2

2

0

2

model

2 3 4 5 6 7 8

2 0 2

2

0

2

residuals

1.00.80.60.40.20.0

Fiber 4448, dchi2frac= 1.0



2 0 2

2

0

2

data

1.001.251.501.752.002.252.502.753.00

2 0 2

2

0

2

model

1.01.21.41.61.82.02.22.42.6

2 0 2

2

0

2

residuals

0.10.00.10.20.30.4

Fiber 244, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.0

2 0 2

2

0

2

model

1.01.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.40.30.20.10.00.10.20.3

Fiber 636, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.5

2 0 2

2

0

2

model

1.01.52.02.53.03.5

2 0 2

2

0

2

residuals

0.100.050.000.050.10

Fiber 2663, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.150.100.050.000.050.100.150.20

Fiber 2368, dchi2frac= 1.0



2 0 2

2

0

2

data

0 1 2 3 4 5 6

2 0 2

2

0

2

model

0 1 2 3 4 5 6 7

2 0 2

2

0

2

residuals

0.4 0.3 0.2 0.10.0 0.1

Fiber 2554, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2.02.53.03.54.04.55.05.56.0

2 0 2

2

0

2

residuals

0.60.40.20.00.20.4

Fiber 356, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2 4 6 8 10 12

2 0 2

2

0

2

residuals

8 6 4 2 0

Fiber 2000, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.5

2 0 2

2

0

2

model

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.60.50.40.30.20.10.0

Fiber 4876, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1 2 3 4 5 6

2 0 2

2

0

2

residuals

1.751.501.251.000.750.500.250.00

Fiber 2570, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.60.50.40.30.20.10.00.1

Fiber 2770, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0

2 0 2

2

0

2

residuals

0.100.050.000.050.100.15

Fiber 2138, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

0.60.50.40.30.20.10.00.1

Fiber 615, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.01.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.250.200.150.100.050.000.050.100.15

Fiber 215, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5

2 0 2

2

0

2

model

2 3 4 5

2 0 2

2

0

2

residuals

0.3 0.2 0.10.0 0.1 0.2

Fiber 2282, dchi2frac= 1.0



2 0 2

2

0

2

data

1.001.251.501.752.002.252.502.753.00

2 0 2

2

0

2

model

1.001.251.501.752.002.252.502.75

2 0 2

2

0

2

residuals

0.100.050.000.050.100.150.200.250.30

Fiber 2567, dchi2frac= 1.0



2 0 2

2

0

2

data

1.251.501.752.002.252.502.753.00

2 0 2

2

0

2

model

1.52.02.53.03.5

2 0 2

2

0

2

residuals

0.6 0.4 0.20.0

Fiber 4446, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

0.80.60.40.20.00.2

Fiber 421, dchi2frac= 1.0



2 0 2

2

0

2

data

1.61.82.02.22.42.62.8

2 0 2

2

0

2

model

1.41.61.82.02.22.42.62.8

2 0 2

2

0

2

residuals

0.100.050.000.050.100.150.20

Fiber 4914, dchi2frac= 1.0


